UNIVERSAL SNOW BLADE INSTALLATION MANUAL

RIVAL UNIVERSAL SNOW BLADE
YHUBEPCAJ1IbHbIN CHETOOTBAJ1 RIVAL

2444.0100.1.B - black/uyépHbii
2444.0100.1.S - gray/cepsiit

WWW.RIVAL4X4.COM WWW.RIVALPOWERSPORTS.RU


1
Прямоугольник


EN Regular fasteners
DE Originale montageteile
RU LWTaTHbIN Kpenex

EN Regular fasteners
DE Originale montageteile
RU LUTaTHbIN Kpenex

EN Screw a several turns
DE Fur wenigen Umdrehungen befestigen
RU BkpyTnTb Ha HeCKonbko 060poToB

EN Loosen bolts
DE Bolzen lockern
RU BbIKpyTUTb Ha HECKOMBbKO 060pOTOB

EN Movement Arrow
DE Bewegungsrichtung
RU [BwxeHune

EN Location/Position Arrow
DE Amordrung/Positionsrichtung
RU PacnonoxeHune

EN Screw Arrow
DE Drehungsrichtung
RU lMNMosopot


1
Прямоугольник


Pama / Frame
2444.0096.01

EN Ratchet S-7, S-17;
DE Ratsche S-10; S-36
RU Tpelétka S-13;

7

EN Slotted Screwdriwer
DE Schlitzschraubendreher
RU OTBépTKa Wnnlesas



1
Прямоугольник


-‘é‘f&
=24 Nm

M8



1
Прямоугольник


11;16

16;21

16;21

11;16



1
Прямоугольник




1
Прямоугольник


KoBw / Bucket

2444.0101.01 - 150 mm,
2444.0101.02 - 137 mm,

EN Ratchet s-13; HEX <6
DE Ratsche S-17; S- 8’
RU Tpelétka S-19

x1

mégm@gxg@

M8x20 x1 | M8x20 x4 | M10x20 2 [ M10x30 x9
16 17 18 o



1
Прямоугольник




1
Прямоугольник


LEFT = RIGHT

“TLEFT = RIGHT



1
Прямоугольник


LEFT = RIGHT

0

L~ |/

[

/§§ =) <=/

§§' 2

LEFT = RIGHT

(A

— /|



1
Прямоугольник


YHuBepcanbHoOe KperJsieHme cHerooTBasa / Universal snow blade mounting pad

2444.0102.1

<

EN Ratchet
DE Ratsche S-13
RU Tpeluétka

x1

x4

x8 | 28 x4

M8



1
Прямоугольник


RM 500, 500-2, 650-2

N

Q[ =]]W([]O

§§ 0O e ’/i%
57 @)Q O O O@ =
O O
o O O O
\\\\Q\\CD O

< 0 O o O N
2 O@;ﬁ:@ @:&%Q
102 2oty
- IS o o o
aw T -1 O 0 O O
E ¢'\6 O O %j b@ O O
02 020 = . e ) Dcge™
CFMOTO CFORCE 550
< O O o Q N
T~ 2 O%@;;i@ @:g;;;Q
T O ﬁ@ - - Ocq O F
i i ]@::::Q @.::::@{
ol Lt ua
S &[5 050G 5RO
‘020' 020',\7 = Q)@& %QOED



1
Прямоугольник


CFMOTO CFORCE 500/600

;

e
71

o@g%
“1 [

P @ -~
©® o ot =
e d) [T w@'@@:
CFMOTO CFORCE 800/820
~ 0O O @Ie N
a| NEEEET
W ® TL?Q o CDT O F
= ClirD ]@O::::Q @:::EQ{
c ol oot Lo,
4848, 2 S35 NiSS
CFMOTO CFORCE 850
O O o O
- %\:\ /:ﬁ% ~
U
B L
5 ]@ QO O C)[
> %3 -~ O 0 O %
@& °,\ o ) S .
ceaees ) (N0 Srie



1
Прямоугольник


Honda TRX 420/500

- @---U \
— N\ ol® SIS
ke adic]
O O
S =0 0.4l
S O O
® . OQféQtﬁ d §19@
1 — O e
2849, o852 S=520
Honda TRX 680
<V O O o g N
— OCQOO DQQ@Q
4 Codl
5 ]@ Q O Q[
> G%D - O 0 0O
@ °'\ ® Q@Cﬁ GO@@ ®
AL LR 23 N
Kawasaki KVF 750
O-- e---O
| 5 S
TQ 3@ o o @F
° p
i ]cb:\ S O ,4@[
O O'e @//O\A&
® ©. IO PO
—
A LA 35 N



1
Прямоугольник


Polaris Scrambler 850/ 1000

O O O g N
— ﬁﬁ @zj/ @Q
I i
| ]@ Q O Q[
o .. e HY
é év\ b, @
' * S @B
4848, DCD = NSl
Polaris Sportsman 850
O O o QO
] N Og e @’f:’%@ ya
I i
® O
-r T
> : 4
@ S OO e @53’@@@@
2849, SO SO

;

@) @)
N e O S Yy A
Qe QO
T@Q O O OT r
O O
o O O O
O 0 0O
oM gd @@ e 28
o0 @2
= o SO



1
Прямоугольник


Yamaha Grizzly 550/700; Kodiak 700

;

/O@OQ OOQQ\

i e

;

i

O'@ @/j:O
ER= > B2
- S @ % == O

;

e i e SES
ﬁHo {?Q : > o o[r
o O 2N ®
£ =y
o e ose



1
Прямоугольник


